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GUE & — 97 G721 @ 24 317 TG-FHIT JHR & J97 & | o9 J97 2 371 &1
g | 37 §o9] &7 3T 40 V53] G 37 757 7@ ST S |

Qg T — o7 T&IT 25 & 29 TY-ITT PR & J97 & | I To7 3 371 &1 8 |
57 51 BT I 60 Jeg] & 31e T3] 17@7 ST F1isq |

TS ¥ — J97 T&I7 30 @ 33 JH-3709 JHR & Jo7 & | Y% F97 5 37H] &7 3 |
57 51 &7 I 120 el G 37fereb 787 for@r Si7 Fiiey |

GUT & — 97 G&I7 34 T 36 FL-ITEIRAT/FIT-3ENRa F97 & 15747 &7 39-397 & |
Jed% 974 37 FT 8 |
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$q% 371N, €17 § 19 gieaifea geneal & g wigl a9 Frtem 3 Seia

] @ T W U I T 1597 T E | § ) & I daer gheantaa wiandT &
7@ |

QU &
(sgfrmedta we) (20x1=20)

fou 7w Eal # ¥ w0 % SAiv=iies dial s giHT 3R wEl faeher &1 e

HIT | 1

. d

II. HEHR

III. wEsrl giufaat

IV. =ui

e ;

(A) had 1911

(B) ohaa 119 III

(C) ohas 19 III

(D) ad [9 IV
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General Instructions :

Read the following instructions carefully and follow them :

(1)
(it)

(iii)

(iv)

(v)

(vi)

(vii)

(viii)

(ix)

This question paper contains 37 questions. All questions are compulsory.

Question paper is divided into six sections — Section A, B, C, D, E
and F.

Section A — Questions no. 1 to 20 are Multiple Choice type questions. Each
question carries 1 mark.

Section B - Questions no. 21 to 24 are Very Short Answer type questions.
Each question carries 2 marks. Answer to these questions should not exceed
40 words.

Section C — Questions no. 25 to 29 are Short Answer type questions. Each
question carries 3 marks. Answer to these questions should not exceed
60 words.

Section D — Questions no. 30 to 33 are Long Answer (LA) type questions. Each
question carries 85 marks. Answer to these questions should not exceed
120 words.

Section E — Questions no. 34 to 36 are Case-based/Source-based questions
with three sub-questions. Each question carries 4 marks.

Section F — Question no. 37 is Map skill-based question with two parts —
37(a) from History (2 marks) and 37(b) from Geography (3 marks). This
question carries total 5 marks.

In addition to this, NOTE that a separate question has been provided for
Visually Impaired candidates in lieu of questions having visual inputs,
map etc. Such questions are to be attempted by Visually Impaired candidates
only.

SECTION A
(Multiple Choice Questions) (20x1=20)
Select the formal sources of credit from the given sources and choose the
correct option. 1

I. Bank

I1. Moneylender
III. Cooperatives
IV. Businessman
Options:

(A) OnlyIandII
(B)  Only II and III
(C) OnlyIand III
(D)  OnlyIand]IV
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2. fafafigd 4 | fore aes s wid | TR 4 feeegr) wdifee 2 2

(A) A
(B) fgdas
(C) qdrEeh
(D) =Iqdh

3. fmfaRea # & wH-A1 IERIHWT | i 7 2
(A) SR &0l S FGHET
(B) SATIR &l Sl g
(C) AR GRI GEY o W 0T ot
(D) aEgl W M, fta e SemH

4. = < wue feu U E | ¥ AR (A) 3R HRO (R) & | @1 ®eHl i dfeT
IR T faerew o1 == KIS |
S7HYT (A) : T 9 giem ot & 99U 3@ Y siv=nies |l w A
g |
FRU(R) : Sohl 8 %l o o [0 FOMYR IR RIS Swrmmal 6l S
ISl B |

farhey

(A (A) IR (R) qHI H&l @ AN (R), (A) H 8l AR 7 |

B) (A) 3R (R) g1 T B, AfhT (R), (A) T T = 787 2 |
(C) (A) GEl g, AfkT (R) Terd 2 |

(D) (A) 7 §, Wfhd (R) 98l & |

5. TH Bic H Td H T [hdM 719 o HIghR § I A4k AT & W R0 Ol 7,
TR 98 38 99 TR H T&WH 31 8T | ITTE IR 98 S ¥ HH AN A W
O AT @ | I8 FR-HR AR WIEHR TR e QA1 I T IHAT 3 |
39 RO LT § ek <hl YHeRT 1 HH ST JUH HHTIRGd H & hiH-A1 & 2
(A) S Ush FgHRI SRUCEIAT o &9 U hrd Hidl 2 |
(B) ok RIS <h! feafa sl glagmee s 2 |
(C) o axqedl &1 3fua ITEH-YeH gHfTad Hiar ® |
(D) S fREM S U T TEE@I R |
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2. Which one of the following sectors has the highest share in employment
in India ? 1

(A) Primary
(B)  Secondary
(C)  Tertiary
(D) Quaternary

3. Which one of the following is included in ‘liberalization’ ? 1
(A) Promoting trade barriers
(B) Removing trade barriers
(C)  Controlling the other country through trade

(D) Increasing import, export duty on goods

4, Two statements are given below. They are Assertion (A) and Reason (R).
Read both the statements and choose the correct option. 1

Assertion (A) : Rural poor families are still dependent on informal
sources of credit.

Reason (R) : For obtaining loan from banks, collateral and special
documents are required.

Options:

(A) Both (A) and (R) are true and (R) is the correct explanation of (A).

(B)  Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(C) (A)1is true, but (R) is false.

(D) (A) is false, but (R) is true.

5. In one of the small villages, a farmer borrows money from the village
moneylender at a high monthly interest rate but is not able to repay it
back. Next, he borrows it from a bank at a lower interest rate. Gradually
he earns and pays back the loan to the moneylender and the bank.

Which of the following best describes the role of the bank in this credit
situation ? 1

(A) The bank acts as a cooperative lender.

(B) The bank facilitates a debt-trap situation.
(C)  The bank ensures a fair exchange of goods.
(D) The bank saves the farmer from debt-trap.
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V)

6. Fd= Qw19 IIfeu mu & | 41 HUAl B dfen 3R GE faehed w1 ==
HIT |

Fg7]: TEAW 9 e sFe@ ¥ Tishd ®9 O IeH ¢ @ 8 3TN SiF,
SR, Jehlcl, Segeh a1 favafaener fiems i e far &
g |

FITII : «ifer favyea f1 aodifaes sifsae ot uoHifas masd 9
TeSI-eh Sfta H HfgeAtsTl shl fHepT hl IGIH H F&TIdT hl 7 |

Tererey .

(A) %99 I 81 3, wfehd 11 Terd 2 |

(B) w99 I TId &, feh 11 BT 2 |

(C) A 1T Il H1 T 8 AR 11, I 1 Tl e 2 |

(D) @A 19 II gHi 98l 8, ifehd 11, I =hl T&! ST g7 8 |

7.  UNd % AAYH % AR HfIRad 4 9 SH-E Ueh TIEed | § ?

(A)  uregd

(B) Tl
(C) STt
(D) TSI

8. @ @ wux few mu B | ¥ fished (A) 3 HRU (R) B | @1 AT I ufeu
3 TEt forehew 1 =3m hifeT |

SIHHYT (A) : WRA H IEEATT ST hl HIART 2 |

FRU(R) . I8 WRd s 9 g 3 wimiferes fowmaredi & gie g #
gqm g |

forerea :

(A (A) 3R (R) g @&t & 3 (R), (A) N T = 7 |

(B) (A) 3R (R) gHI T&t 7, otk (R), (A) 1 Hel =amen 787 2 |
(C) (A) &l g, Ak (R) TeTd 2 |

(D) (A) T 8, AR (R) T 2 |
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6. Two statements, I and II are given below. Read both the statements and
choose the correct option. 1

Statement I : Women are now actively contributing to various
professions including roles as doctors, engineers, lawyers,
managers and university teachers.

Statement II : Political expression of gender division and political
mobilization helped to improve women’s role in public life.

Options:

(A) Statement I is true, but II is false.

(B) Statement I is false, but II is true.

(C) Statements I and II are true and II is the correct explanation of I.

(D) Statements I and II are true, but II is not the correct explanation of I.

7. Which one of the following is a scheduled language as per the
Constitution of India ? 1

(A)  Bhojpuri
(B)  Garhwali
(C) Nepali

(D) Rajasthani

8. Two statements are given below. They are Assertion (A) and Reason (R).
Read both the statements and choose the correct option. 1

Assertion (A) : Multi-party system has been adopted in India.

Reason (R) : It is capable of accommodating all the social and
geographical differences in India.

Options:
(A) Both (A) and (R) are true and (R) is the correct explanation of (A).

(B) Both (A) and (R) are true, but (R) is not the correct explanation
of (A).

(C) (A)1is true, but (R) is false.
(D) (A)is false, but (R) is true.
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9. YRA % YAd AR F TSHIH gl o gar o e ffafgd & 9 sH-a
hqH 31T ? 1
(A) TA-9GA I Uehd o AT AlTgH FNe foha |
(B) IWIa oh! I9Y-I o GRI AT WHE b1 SN AT BT |
(C) 3IEfigaRl ! AUY-TF &% G AU FURT T S <A1 10|
(D) |l Al Bl WATSHSE AT HUAT 3T 3R e WA Afamd &1 T |

10. YT Gfagd # go-foear 8 gefig efdiaa geumt = afer o a@&
faehed hT T4 <hITTT | 1
[ YA TsT A foedt oft of =1 b o erfieer &l foham 2 |
II. dfgge gt amieet &t el ft gd &1 9o & 3R J=9R & 6

TG 3al & |

III. Wfag™ gd & IR W U I a1 fFeft @ & We’E &l durHes
Y Har B |

IV. g oififes aqerRi § THHar gHfead o o fole smee 0 arfides e
T g & w1 ATUHR <1 B |

farepeu .

(A) had LIIT IIIHE & |
(B) whadd I, 119 IVHE 3 |
(C) had I, 1119 IVUS 7 |
(D) ohad IL 119 IVEE 2 |

11. YRA H fqurh ifumri & deani ¥ Gafd Tod 9 fdehed &1 == hig | 1
YRAT Gl 5 favea

(A) g9 g —  Yfaen 9 s

(B) T F - gfow 9 B

(C) wHadl = - S FEER

(D) RS fama - HOY SR 9 AR
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9. Which one of the following steps has been taken by the Election
Commission of India to reform political parties ? 1

(A) Amended the Constitution to prevent defection.

(B) Candidates will have to give the details of criminal cases on
affidavit.

(C) Candidates will have to give details of their property on affidavit.

(D) It has been made mandatory for all parties to conduct
organizational elections and file income tax returns.

10. Read the following provisions regarding Secularism in the Indian
Constitution and choose the correct option. 1

I. The Indian State has not adopted any religion as its official
religion.

II. The Constitution gives freedom to all the citizens to practice and
propagate any religion.

III. The Constitution declares any kind of discrimination done on the
basis of religion to be legal.

IV. It gives the government the right to intervene in religious matters
for ensuring equality within religious communities.

Options:

(A) Only]I, II and III are correct.
(B)  Only I, IT and IV are correct.
(C)  Onlyl, III and IV are correct.
(D)  Only II, IIT and IV are correct.

11. Choose the most appropriate option regarding the division of legislative

rights in India. 1
Subject list in Subjects
Indian Constitution
(A) Union List — Defence and Commerce
(B) State List — Police and Agriculture
(C) Concurrent List — Forest and Communication
(D) Residuary Subjects — Computer Software and Trade
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V)

12. = @ Hed 19 11 fau 7u & | SHT el i dfeu R Tft fashed &1 ==H
I |

FYT] : T 1 ST AlhdiHeh AIEIA3 o T ik 7 |
Fo7 11 : 399 Tafia i Tqgl & = Tohia i 9T &l ®F B H

ggrEal faadt 2 |
forerea :
(A) HF 1G98 g, Aferd II Tid 2 |
(B) ¥ I TAd B, i 11 H&l 3 |
(C) YA 19 II gHI Hal & 3R II, I i T&t A1 7 |
(D) HYF 19 II g1 & & aferd 11, I st Tt e 787 2 |

13. T=afafea # @ SH-91 YRG 1 98 981 SiedEe Ides 9 § 2
(A) HENTSG (B) #R@E
(C) TSR (D) ofifssm
14. ‘Sia fgu faa yomelt’ Ffafea @ @ foem o9 o v=ifora g 2
(A) dAHAT (B) ufeem s
(C) THEH (D) 3nfesm
15. %9 161 T0a@ W9 118 hifSe 3T gat faehed 1 === hifve |
&ad 1 Ty 11
(T 3Er) (77577
i. TS a. WY U
ii. oW iee b. Em
i, gered c. IWES
iv. EIBERT d. ufyrem s
fererew :

(A)  i-a, ii-b, iii-c, iv-d
(B) i-d, ii-c, iii-b, iv-a
(C) i-c, ii-b, iii-d, iv-a
(D)  i-b, ii-c, iii-d, iv-a
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12.

13.

14.

15.

Two statements, I and II are given below. Read both the statements and

choose the correct option. 1
Statement I : Division of power is good for democratic systems.

Statement II : 1t helps to reduce the possibility of conflict between
social groups.

Options:

(A) Statement I is true, but II is false.

(B) Statement I is false, but II is true.

(C) Statements I and II are true and II is the correct explanation of I.

(D) Statements I and II are true, but II is not the correct explanation of I.

Which one of the following is the highest ‘bauxite’ producing state of

India ? 1
(A) Maharashtra (B) Jharkhand
(C)  Gujarat (D) Odisha
In which one of the following states is ‘bamboo drip irrigation system’
prevalent ? 1
(A) Tamil Nadu (B) West Bengal
(C) Meghalaya (D) Odisha
Match Column I with Column II and choose the correct option. 1
Column I Column 11
(National Park) (State)
i. Kaziranga a. Madhya Pradesh
ii.  Jim Corbett b. Assam
iii. Sunderbans c. Uttarakhand
iv.  Bandhavgarh d. West Bengal
Options:

(A)  i-a, ii-b, iii-c, iv-d
(B)  i-d, ii-c, iii-b, iv-a
(C) i-c, ii-b, iii-d, iv-a

(D) i-b, ii-c, iii-d, iv-a
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16. feu u fom = 2fgw | oz # foran o9 aren vt fefafiaa & @ form otrfdien
STk o ITdTd AT & 2

(A) et (B) fgdioe
(C) qdEeh (D) =qdeh

Fig: [AHleiEd 397 Faci gleariad qagmief & g 397 G297 16 % w7 T8 |
‘B <l W’ refeuraEen % frmfafga # 9 fohg &=k & siama ot 8 2
A)  fien B) fedire
(C) qdreh (D) =qdeh

17. T wam 61 qfd o foi @€t foeped 1 =@ hINT |

19 &t & My H, SN Hfeard derw H S&@E w3
‘TR e AR SRR faE |

(A)  dfear e

(B) Twrged weft

(©) e fie

(D) ety Tt
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16. Look at the given picture. The work being done in the picture comes

under which one of the following economic sectors ? 1

(A) Primary (B) Secondary
(C)  Tertiary (D) Quaternary

Note : The following question is for the Visually Impaired Candidates only,
in lieu of Q. No. 16.

‘Floriculture’ comes under which one of the following sectors of the

economy ? 1
(A) Primary (B) Secondary
(C)  Tertiary (D) Quaternary

17. Choose the correct option to fill in the blank. 1
In the beginning of the 19! century, a girl married in a very

orthodox household wrote an autobiography called ‘Amar Jiban’.
(A) Pandita Ramabai

(B) Rashsundari Devi

(C) Tarabai Shinde

(D)  Kailashbashini Debi
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18. Tfdfgd =TT I HIAThiHS A H FERAd HifWT 3R A&l foehed
T T |

I. g3 U fRgarsa afufa =1 a1

II. SfAATaTT an gAehe

[II. SHEI 9camwig
IV. 3THgIN 3TEIA bl 199 ol
ey ;

(A)  LILII IV
B) IL LIV, III
(©) LIL IV, III
(D) IIL IV, 1L I

19. Tfafegd & @ a1 96 g wRa 4 9o qon wm qnr (e ®¢) i
fafay smarett & o feemsti & e ?

A) Teg wH
(B) 3418 9v
(C) dig e
(D) 9 gd

20. 18151 ‘foar grae <kl uoer ffafgd & 9 fore & oft 2
(A) TTHH Sh HA@

(B) 3 TH
©) Taferm-gem
(D)  37fer a9 foreareh
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18. Arrange the following events in chronological order and choose the

correct option. 1
I. Formation of Khilafat Committee in Bombay
II. Jallianwala Bagh Massacre

III. Bardoli Satyagraha

IV. Withdrawal of Non-Cooperation Movement
Options:

A LILIIL IV

B) ILILIV,III

(C) LI,Iv, 111

(D) III,1IV,II I

19. Which one of the following religions emerged from eastern India and
spread in several directions through intersecting points on the ‘silk

routes’ ? 1
(A) Hinduism

(B)  Christianity

(C) Buddhism

(D) Jainism

20. Who among the following hosted the ‘Vienna Congress’ in 1815 ? 1
(A)  Chancellor Duke Metternich
(B) Ernst Renan
(C) William I

(D) Otto von Bismarck
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21.

22.

23.

24.

25.

26.

27.

28.

29.

Qus @

(atfa eTg-swriE w9) (4x2=8)

(a) “GfFS Y=; T qAT HRTANG ISl § fHed 3 17 Sersr gfed 39
YT hl AT HINT | 2

AT

(b) “HEErE S # ft faeme 5 § wiie 9w S @ 1”7 3erstr 9fgd 39
HYF T SFRST HIT | 2

dicigdl Sdisel 8 Y8 HRAIT SUHSIE <hl SAIINeh Aedeh o JdIg H heold
feafa =1 off 2 == AT | 2
Siceht Sl AT FATEE T FUMH HINT | 2

o ¥ foesft few = sgEm @@ & fou YRd TR g I3W T HeHi ol
Ty HifsT | 2

@UE T

(g3 wEA) (5x3=15)

IAAE THT B GROaT o1 fosy faeema o fou s1fHem = =1 ™ 8 2 e
gigd samEe iV | 3
RS HiY hl G g Sl ol dH [RINATST T JUH I | 3
TSHIfdeh Tl o fehmal di9 sl o1 fagerwer shifse | 3

9 gagEl w1 9uiE hifvie 9o g SfeeEm 3 ot wHE w1 "HIgH
o | 3

(a) AT ST AGRIAT H Higarell i YHehT i ITEWN Higd TS
iR | 3

AT

(b) Sl AT & R WA olieh herali 3T Jdehl 5 Tsgare o fomm

! Tore SRR ASTed TohaT ? IQTEXVIT Higd SATEAT HilT | 3
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SECTION B
(Very Short Answer Type Questions) (4x2=8)
21. (a) “Minerals occur in igneous and metamorphic rocks.” Explain the
statement with example. 2
OR
(b)  “The ocean waters contain vast quantities of minerals.” Explain
the statement with example. 2

22. Why was the Indian subcontinent central to the flows of the trading
network before the sixteenth century ? Explain. 2

23. Describe the ethnic composition of Sri Lanka. 2

24. Analyse the steps taken by the Government of India to promote foreign
investment in the country. 2

SECTION C
(Short Answer Type Questions) (6x3=15)

25. Why has the issue of sustainability become essential for development in

present times ? Explain with example. 3
26. Describe any three features of Kharif season of Indian agriculture. 3
27. Analyse any three functions of political parties. 3
28. Describe three provisions through which Belgium solved its problem. 3

29. (a) Explain the role of women in the Civil Disobedience Movement,
with examples. 3

OR

(b) How did the Indian folklore and symbols strengthen the idea of
nationalism during the twentieth century ? Explain with
examples. 3
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30.

31.

32.

33.

34.

Qus Y
(e -swia we) (4x5=20)
(a)  SHIEIET SRIfd o QHIA @M h St= AT{geh J8a hl WIaAT UgT i
foru st smifaesTiat g foru e Sum <kt same HifSw | 5
AT
(b) UHSIERE § 8 h TUgdlg 1914 H ThE YR JUT I HETIOUST hl 3R
o TR ? SARE hifu | 5
(a)  3TEIfires YGUU 1 A LA o UM <hl IGTELUN Hind SATEAT I | 5
AT
(b) Tordt 31 i snfdes 3Iafa fora weer fafamior 3= & fowma gro ardh
St 3 2 3ST8WN Tfgd AT shifv | 5
(a) 3t Tfdfafern o TS T st &5k § 3Ta s shifvu | 5
AT
(b)  3mtep TiAfafery & Tfed Ua STEiSd &sfeh | 3T TUSE hifod | 5
(a) STEEHAl MR TS I HH B H AT el HRT hl IS Algd
RS HIfT | 5
AT
(b) Alhdd fohH Toh Teh 99 JTEF & ? 3eT8W0N Afed Tuse hifg | 5
Qus &
(hE-snaTiE /| - STt U9) (3x4=12)
feu U Eiq 1 ufeu 3R 39 A= feu T g % I N
TghRT giufaat 9 =

Sohi o 3TcATaT UM & W TEd KT T Ush 3T @I Tghil |HfaAr § |
maﬁ%%wmwwﬁ@éﬁﬁwﬁﬂ%mmW§l
ﬁwﬁwwﬁaﬁﬁmvﬂa%ﬁﬁ feperm I, gﬂ%{l@aﬁ@ﬁﬁﬂﬁ@
$ATIG <hl TEHRI THIGAT | Pk FghR! A FHIT h -Mcdoh Teh 19 H
HA B | 3Hh 2300 RUM e B | U8 MUY GEWN O THT TS SRl
g | 39 M1 ¢S Sl FROMYR AFd U, 39 Fghil GHfd 4 S & a8 R0 I
foram 2 | 39 ISt o1 SEIHTA TEEAT I el oF o AT TRIAT SM@T g | I8 RO
I o &G sl sl GEU G I ohaT ST Hehdll @ |
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30.

31.

32.

33.

34.

(a)

(b)

(a)

(b)

(a)

(b)

(a)

(b)

SECTION D

(Long Answer Type Questions) (4x5=20)

Explain the measures introduced by the French revolutionaries to
create a sense of collective identity amongst the people during the

French Revolution. 5
OR
How did nationalism aligned with imperialism lead Europe to
disaster in 1914 ? Explain. 5
Explain the measures to reduce industrial pollution with
examples. 5
OR
How is the economic progress of a country measured by the
development of manufacturing industries ? Explain with examples. 5
Explain the differences between public and private sector of
economic activities. 5
OR
Explain the differences between the organised and unorganised
sector of economic activities. 5
Explain with examples the role of democracy in the reduction of
inequality and poverty. 5
OR
How is democracy a legitimate government? Explain with
examples. 5
SECTION E
(Case-Based/Source-Based Questions) (3x4=12)

Read the given source and answer the questions that follow :

Loans from Cooperatives

Besides banks, the other major source of cheap credit in rural areas

are the cooperative societies (or cooperatives). Members of a cooperative
pool their resources for cooperation in certain areas. There are several
types of cooperatives possible such as farmers cooperatives, weavers
cooperatives, industrial workers cooperatives, etc. Krishak Cooperative
functions in a village not very far away from Sonpur. It has 2300 farmers
as members. It accepts deposits from its members. With these deposits as
collateral, the Cooperative has obtained a large loan from the bank.
These funds are used to provide loans to members. Once these loans are
repaid, another round of lending can take place.

32/5/3-15
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e TFHRI HHIA DY IR @, Gl TAT FN SATIR FH, TS Tehe,

T T R 3= ol yepr & @= o folw or ggan &t 7 |
(34.1) ‘¥ UgHR FHIGAT 9 TG hl RO YGH i o [T 99 Hd

39ASY HACT B ? 1
(34.2) ‘Y HERN HUIGAT T TEEA HI ThE THR % RO YGH Hdl

& ? 1
(34.3) Ut wewht winfaat wor &s & @ A § 2 2

35. feu 7w gia =1 ufeu ot sge = fau @ gwAt & I &
BUTE WA AT

SFH STTEed fgaehl 7 1780 W F77c7 79 M Ueh dTdligeh Giehl I
qared & fopa, & ge &1 f afeariva T, & fRet & Toie 3uaisy T
TeETReh g, St fopet & quma ® € 7 | Il a8 ulent wRa § 39 =5dm
el AERE I | ST, et 37usht 3w oft, TR 38 31+l Taaadr W
AN ot | fEeeht e wR famram svar on S gt fosht @ 2 svagr ot
et 9 | AT T & 98 YRd B HRRA aiss AT ATTRTE o JE et
ff BIAT o7 | $HH S Rt Ta Sa ai gfee™ F Tgarhl T gehgn
oo, SR T8 9l M-I TEER| & TR i Jcdled Sl &
oo 1 sifafees TS 1 Bfd W g gHAl § SEh! T8 L T | ASNgdl dgl
% 3d doh H3-HHl THA-UEH B9 ol | $© fegedrl Hl A9 T@ER B
A Y | U T H OUEAT o1 TSN THHIET U o hidl @ e Y gl
YeRTIRId 77T 572 |

(35.1) S¥g JMRH okl g guifed Ubenl ‘g7or 792 fopg wmeT §

TRIRIG 58 ? 1

(35.2)  SFH ANTEeH Tgaehl T HehaHT FT Tohall TIT ? 1

(35.3) 1780 % Tk o CIH fohd 3T@ERI I TicHTiad fopam T 2 3= &=
TcdTed TR =T 2 1+1=2
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Krishak Cooperative provides loans for the purchase of agricultural
implements, loans for cultivation and agricultural trade, fishery loans,
loans for construction of houses and for a variety of other expenses.

(34.1) How do ‘Krishak Cooperatives’ secure funds for providing loans to

their members ? 1
(34.2) What are the different types of loans that ‘Krishak Cooperatives’

offer to their members ? 1
(34.3) Why are such cooperatives desirable in the rural areas ? 2

35. Read the given source and answer the questions that follow :
Print Comes to India

From 1780, James Augustus Hickey began to edit the Bengal Gazette,
a weekly magazine that described itself as ‘a commercial paper open to
all, but influenced by none’. So it was private English enterprise, proud of
its independence from colonial influence, that began English printing in
India. Hickey published a lot of advertisements, including those that
related to the import and sale of slaves. But he also published a lot of
gossip about the Company’s senior officials in India. Enraged by this,
Governor-General Warren Hastings persecuted Hickey, and encouraged
the publication of officially sanctioned newspapers that could counter the
flow of information that damaged the image of the colonial government.
By the close of the eighteenth century, a number of newspapers and
journals appeared in print. There were Indians, too, who began to publish
Indian newspapers. The first to appear was the weekly Bengal Gazette,
brought out by Gangadhar Bhattacharya, who was close to Raja
Rammohan Roy.

(35.1) In which language was ‘Bengal Gazette’ edited by James Augustus
Hickey published ? 1

(35.2) Why was James Augustus Hickey persecuted ? 1

(35.3) Which newspapers were encouraged during the 1780s ? Why were
they encouraged ? 1+1=2
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36. feu u &g =1 4feu 3 3s Hfiw feu o g & 3w &S .

HETEAT T G0

A TR W afed qlies & Y TR ! Jehleld 1968 W Fo7e

3% U7 F I | TEATAT 1974 H IHE 7 9 [&dh LT 397 q2|pT | 39
o 9@ TiTefiSht % guM Sl Tk 9R TR & Segfd i B | 1987 § Freecis IR
e grr dfvges T W F9199 WV § JATgR AFeE T T | 39 R 3
‘Gaq divoiie faerE’ (Sustainable Development) 3T T J&qd 3R
1Y TII0T hl Sehlaid <h Iﬁwaﬁﬁ WW”@W(OurCommon
Future)?ﬁ%ﬁw%w&w&ﬁ@ Igﬂﬂﬁﬁﬁ@ﬁ'{ﬂ%w
e TR €1 ST, S § 1992 H ARG geat avHed g foram T |

(36.1) & QU foehm w1 319 Tse hINT | 1
(36.2) TSie1-21" ol foh TSI TriieH # Telieha feram T 2 1
(36.3) T o Tehmgl & IROmH <Al ST iU | 2x1=2
s d
(mTafes wrvTer-emenfia ag) (2+3=5)
37. (a) TCU T WRa & TSHITde W@I-AFRS (8 27 W), | & TAFT Hl A’ 3R

(b)
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‘B o ®Y H 3fhd foram T B | Ffafaa el bt agmar 9 3=
JEeT-U 3T 39k Tal A0 37k THIY G 75 f@refi | fafgu

A, 98 M S8l 1920 H WRA TS hild 1 ARE g7 o | 1
B. 9% T gl Mls 4 F0eh i arer o | 1
WRA & 3 ToHIfde @-qHrsT § =faiga & 9 fegl @7 =i

ST TRl | RISy 3R 3 9™ AT : 3x1=3

(i)  SATSAT — I8 3TIEh hl @M
(i) ATHEY — A ol G

(iii) TSAT — IHE FHgT To

(iv) HHHaaRRT — STaUSE Ay 9
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36. Read the given source and answer the questions that follow :
Conservation of Resources

At the international level, the Club of Rome advocated resource
conservation for the first time in a more systematic way in 1968.
Subsequently, in 1974, Gandhian philosophy was once again presented by
Schumacher in his book Small is Beautiful. The seminal contribution
with respect to resource conservation at the global level was made by the
Brundtland Commission Report, 1987. This report introduced the concept
of ‘Sustainable Development’ and advocated it as a means for resource
conservation, which was subsequently published in a book entitled Our
Common Future. Another significant contribution was made at the Earth
Summit at Rio de Janeiro, Brazil in 1992.

(36.1) Explain the meaning of sustainable development. 1

(36.2) In which international conference was ‘Agenda-21" accepted ? 1

(36.3) Explain any two outcomes of the Summit. 2x1=2
SECTION F

(Map Skill-Based Question) (2+3=5)

37. (a) Two places ‘A’ and ‘B’ have been marked on the given political
outline map of India (on page 27). Identify them with the help of
the following information and write their correct names on the

lines drawn near them :

A. The place where the session of Indian National Congress
was held in 1920. 1
B. The place where Gandhiji broke the salt law. 1
(b)  On the same political outline map of India, locate and label any
three of the following with suitable symbols : 3x1=3
(i) Bailadila — Iron ore Mines

(ii))  Namrup — Thermal Power Plant
(iii) Kandla — Major Sea Port

(iv) Meenam Bakkam — International Airport
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Fig:  [Eliad 39 #ac ghearfaa ahenfdel & 77 397 §e91 37 # € W

g1
fe-8T gier 351 @& 3 T | 5x1=5
(37.1) 3T UST &1 9W ARGy &1 1927 # UK TSI ST 1 ATy

BT AT |

(37.2) 3 TIM o1 AW fIRau gl MESh 4 T80 ST qrel o |

(37.3) 39 U¥ & 9 faiRau SI&T STl g 3%k i @M f&rd 3 |
(37.4) Torm U9 # AmHEY A Fei T3 T g 2

(37.5) 38 TS ol A TIRGUC S8l Hieen Tgg - 0q 7 |

(37.6) 39 U 1 AW fafgn 5t dameern Tais ™ a9y goH ferd 7 |
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Note: The following questions are for the Visually Impaired Candidates
only, in lieu of . No. 37.

Attempt any five questions. 5x1=5

(37.1)

(37.2)
(37.3)
(37.4)
(37.5)

(37.6)

32/5/3-15

Name the state where the session of Indian National Congress
was held in 1927.

Name the place where Gandhiji broke the salt law.

Name the state where Bailadila iron ore mines are located.
In which state is Namrup Thermal Power Plant located ?
Name the state where Kandla sea port is located.

Name the state where Meenam Bakkam international airport is
located.
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